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Options and Mathematics: Lecture 13

November 24, 2020

Replicating portfolios of American derivatives

Y= 5 (sW)

A predictable portfolio process {hg(t), hg(t)}ier is said to be hedging the
/ American derivative with intrinsic value Y (t) and maturity 7' = N if

V(N)=Y(N), V(#)=Y(t). t=0,....N -1,
/’ .

where V(f) = hg(t)S(t) + hg(t)B(t) is the value of the portfolio process at

time f.
If Vit) = ﬁ,(!) for all t = 0,..... N, the portfolio process is said to be 7
/ replicating the American derivative. WE V= ’ﬁ7 ({3 |
THE N SINLT .

Replicating portfolio processes are hedging portfolios, because I1y-(t) = Y(¢
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replicating, because ITy (f) has been defined as the common value of any such we ALso UAVE
portfolio. )
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In the European case any self-financing hedging portfolio process is (trivially)
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However, in the American case, the class of self-financing portfolios is in
7 SEUWEE CchAdS

The following theorem shows that replicating portfolios for American deriva-
. -—
tives may generate a cash flow. THe <=y

Theorem 4.3 is\\' [‘\_) — \{ H./\

Consider the standard American derivative with intrinsic value Y'(#) and

/ maturity 77 = N. ) 8 (5 (:{')j

general too small to contain replicating portfolio processes.

Let ]Iy(i’) be its binomial price of the American derivative.

Define the portfolio process {(Eg(f) J};B(f}) her and the cash flow process C'(t)
as follows: Fort =1,...,. N —1,

(c0) =0, C(t) =Tiy(t)—e f'_'qr,’“;r,(f+1)+f;,;ﬁ“{-{f—1)]j| k/

> woox (YE6) | e (‘[“{Z“% U-+D«\-°|AT\.;[U"<Q\‘)

and, for t =1,..., N,
- — = T exbh<TUC
Gy 1 M- g (1)) hec € A’i [
15(t) = Sit—1) o _ od ) The SAME
NS N e
/,__ —r .nﬂa’_ t _.dﬁlf_ f.\‘ Q)
hp(t) = B(; — 1)‘ ‘(flj _:M v (1) VoL i
A
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This portfolio process is predictable, replicates the American derivative and
generates the cash-flow C(t)
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By the previous theorem the writer can hedge the derivative and still be able
to withdraw cash from the portfolio.

Whether the writer is allowed or not to withdraw cash from the portfolio
(i.e., C(t) > 0) depends on the “smartness” of the buyer.

In fact, we have, for t € {1,..., N — 1},

/ : e

e C(t) = max(Y (), e (qully (t4+1))+qall§ (t41) —e ™" (qu T (t41)) +qall5 (t41)).
— S —
T, )

This quantity is positive at time t'if and only if only

CE'D?:O \€ r —///?——H_:d//—’\
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which implies that ¢ is an optimal exercise time.

Hence the writer of the American put can withdraw cash from the portfolio
only if the buyer fails to exercise the derivative optimally.

If however the buyer exercises the derivative optimally, then the seller needs
the full value of the portfolio to pay-off the buyer and thus no cash can be
withdrawn.

e TS UIRPENS, THEN
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Exercise 4.4

Consider the American derivative with intrinsic value

e

Y(t) = min(S(t). (24 — S(1))+)

and expiring at time 7" = 3. The initial price of the underlying stock is

S(0) = 27, while at future times it follows the binomial model w
= 9(% f’/ = 3

S(t+1) 4S5(t)/3  with probability 1/2
S(t | 25(¢)/3  with probability 1/2

for t = 0,1,2. Assume also that the risk-free rate of the money market is

zero. Compute the possible paths of the binomial price of the derivative. T=0
In which case it is optimal for the buyer to exercise the derivative prior to

expiration? What is the amount of cash that the seller can withdraw from

the portfolio if the buver does not exercise the derivative optimally?

Exercise 4.5 (bo oy \{00 Psg(.?w

Consider a 3-period binomial model with the following parameters:

=] o
—

Ad—Z =1, pe(0,1).
=3 e . pe(01)

Let S(0) = % be the initial price of the stock. Consider an American style
derivative on the stock with maturity 7' = 3 and intrinsic value

Y(t)=|3-S(t)|H(S(t) —7/5).

where H(x) is the Heaviside function and |z| is the absolute value of .
Compute the binomial price of the derivative at each time ¢ € {0,1,2, 3} and
the initial position on the stock in the replicating portfolio. Compute the
cash that the seller can withdraw from the portfolio if the buyer does not
exercise the derivative at optimal times. Compute the probability that the
derivative is in the money at time ¢ € {0,1,2,3} and the probability that
the return for the buyer is positive at time ¢ € {0, 1, 2, 3} if the derivative is
exercised at this time.
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Exercise 4.12 /
o 1

Assume e = {, e? =5, S(0) =1, p=3/4,¢" =9/8.

=1

a) Compute the binomial price at ¢+ = 0,1,2 of an American put with
strike K = 3/4 and maturity 7' = 2

b) Compute the binomial price at t = 0, 1, 2 of a European call with strike <
K =3/4 and maturity T = 2

¢) A derivative U gives to its owner the right to convert i at time ¢ = {
1 into either the European call or the American put defined above.
Compute the binomial price of U at time t =0

d) Describe the strategy that the holder of U should follow. K
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Solution to Exercise 4.4
den 24 november 2020 15:53
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Solution to Exercise 4.12
den 24 novem ber 2020 16:30
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